K0630_C

:
4

E3AE| A I8, ANE AZ R AZUEI U= 2L E
2 AF[OI|A OIHIA
=3 dY/HIE o[o] x|

|

My

THE!:

AR T

2 E Es ®al:
4 52 5.8.
AHIQIPA AE HA:
&= E Fs ®Mal:
LIA} £2]E 1.4305.
2 El 1.4034.
HIZE, SRR 2tZ
LIA}F &£2]E 1.4305.
A2 El1.4305.

HAZY g, A

=M OIF2

25T

Ha E dE, Aok, 4 ahst 72|
AE[QlEA AR T

H2E 33, oot & =2™-3

H2E F3f oot & - E X LS
LK

A ZBK = &H goil 2lgt &3 ?Ixl<
HZE S LX|stof st= ol ALSE.
HH EEE TS EFCOEHS
fIRIZ ol = US

Al

S dA HA.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
=ZalAEI] A3 X b N e BT b S Ool= AEI =
=CAE B O8], HEE EF EN EF HEJIU=AE =
(=) =
2 AH|QIH|A QA ZRX
0§
e
D2
]
] - |
| . SWw1 -l r
3y
~d
\ tj
— 3
|
w "'“
Y
A ! I
-0,02
D-0,04
D1
Z= 29
FEHS Ef 2=l xf & A= E D D1 D2 L L1L2L3 AEE3 SW1 Fx30° INES] EIRS
] EbA E2
F12E N F22. N
K0630.23105 C AEl 23t 5 M10x1 21 49,5 17 10 15 8 13 1,3 5 16
K0630.23206 C AE] 43 6 M12x1,5 25 57,7 20 11 17 9 14 1,8 6 18
K0630.23308 c AE 28 8 M16x1,5 33 76 26 14 23 12 19 2,3 15 45
K0630.203105 c AE|QlEA AE] Zs 5 M10x1 21 49,5 17 10 15 8 13 1,3 5 16
K0630.203206 C AE|QlEA AE 43 6 M12x1,5 25 57,7 20 11 17 9 14 1,8 6 18
K0630.203308 C AE|QIEA AE Zs 8 M16x1,5 33 76 26 14 23 12 19 2,3 15 45
K0630.213105 C AEQIFA AE HIZS 5 M10x1 21 49,5 17 10 15 8 13 1,3 5 16
K0630.213206 C AHQIYA AL HIZ3 6 M12x1,5 25 57,7 20 11 17 9 14 1,8 6 18
K0630.213308 C AE|QIEA AE HIZE 8 M16x1,5 33 76 26 14 23 12 19 2,3 15 45

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



